mome-slice-1.500000<P<2.000000

EoverP_BHT1p 0

Entries 4912
500 — Mean 0.9252
B RMS 0.3769
L x? [ ndf 37.13/ 24
— ExpConst 4.081 £0.101
400— ExpSlope -1.037 +0.119
— GausConst 456.1 £+ 9.9
B GausMean 0.9348 + 0.0031
300 — GausSigma 0.1626 + 0.0029
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mom-slice-2.000000<P<2.500000

EoverP_BHT1p 1

Entries 2635
— Mean 1.084
- RMS 0.5527
250 — x? [ ndf 57.42 ] 24
_ ExpConst 2.56 +0.18
- ExpSlope -0.4012 +0.1635
200 — GausConst 233.1+7.5
B GausMean 0.9341 + 0.0043
— GausSigma 0.1546 +0.0041
150 —
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50 —
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mom-slice-2.500000<P<3.000000

EoverP_BHT1p 2

Entries 1646
— Mean 1.243
- RMS 0.6035
140 — x? [ ndf 21.66 /24
- ExpConst 1.135 +0.288
120 — ExpSlope 1.102 +0.205
- GausConst 120.7 +5.3
100 — GausMean 0.9449 + 0.0058
- GausSigma 0.1418 £+ 0.0049
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mom-slice-3.000000<P<3.500000

EoverP_BHT1p 3

Entries 1231
— Mean 1.335
80 - RMS 0.5388
— x? [ ndf 34.58 /23
-0 = ExpConst 0.3137 £0.3330
— ExpSlope 2.046 +0.213
== GausConst 51.39 +3.60
= GausMean  0.9844 +0.0127
50 — GausSigma 0.1723 +0.0134
40 —
30—
10— + + 1 H+
O — 1 1 1 1 |—|_‘|‘|—|:|‘|—|_|_|—|— |—|_—|—
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mom-slice-3.500000<P<4.000000

EoverP_BHT1p 4

Entries 1226
100 Mean 1.299
B RMS 0.4088
B x? [ ndf 37.34 /23
80 — ExpConst 0.3004 +0.3778
_ ExpSlope 1.501 + 0.298
— GausConst 76.37 +3.78
— GausMean 1.19 +0.01
60— GausSigma 0.2047 = 0.0105
40 —
20— Jf H
B f My
- P
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mome-slice-4.000000<P<4.500000

EoverP_BHT1p 5

Entries 1166

— Mean 1.209

1401 RMS 0.3282

~ x? [ ndf 4154 /21

120 — ExpConst 0.3868 + 0.3197

— ExpSlope 1.49 £0.22

100 — GausConst 114.3 £ 5.8

— GausMean 1.13 +0.01

B GausSigma 0.1415 + 0.0064
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60—
40—
20—
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mome-slice-4.500000<P<5.000000

EoverP_BHT1p 6

Entries 1173
— Mean 1.144
1401— RMS 0.2764
- x? [ ndf 42.43 /20
120 — ExpConst -1.126 + 0.877
B ExpSlope 1.988 + 0.545
B GausConst 126.3 5.4
00— GausMean 1.092 + 0.006
- GausSigma 0.1538 +0.0055
80 —
60—
40—
20—
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mom-slice-5.000000<P<5.500000

EoverP_BHT1p 7

Entries 1012
— Mean 1.095
— RMS 0.2224
140 — x2 / ndf 28.46 [ 22
~ ExpConst -0.8614 + 0.5540
120 — ExpSlope 1.878 + 0.356
— GausConst 122.9 +5.5
100 — GausMean 1.05 +0.01
~ GausSigma 0.1389 + 0.0048
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mome-slice-5.500000<P<6.000000 EoverP_BHT1p 8
Entries 699
— Mean 1.066
90— RMS 0.2219
= x? [ ndf 12.02 /20
80— ExpConst -0.8406 + 1.0796
— ExpSlope 1.404 £ 0.683
70— GausConst 83.47 + 4.27
— GausMean 1.03 £0.01
60 — GausSigma 0.1471 £ 0.0060
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mome-slice-6.000000<P<6.500000 EoverP_BHT1p 9
Entries 567
— Mean 1.015
80— RMS 0.1911
= X2 I ndf 15.05/19
70— ExpConst -41.49 £5.79
= ExpSlope 25.79 + 3.49
60— GausConst 69.24 + 3.69
— GausMean 0.9947 £+ 0.0067
50 == GausSigma 0.1558 + 0.0050
40 —
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20—
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mom-slice-6.500000<P<7.000000

EoverP_BHT1p 10

Entries 436
70— Mean 0.9818
— RMS 0.1798
sob_ x? [ ndf 12.62 /14
- ExpConst -0.217 £1.414
- ExpSlope -7.39 £1.41
50— GausConst 53.29 +£1.31
— GausMean 0.971 + 0.008
20 :_ GausSigma 0.1585 + 0.0056
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:_|_| 1 L H_ | | | | | | | | |
OO 2 2.5 3




mome-slice-7.000000<P<7.500000

EoverP_BHT1p 11

Entries 258
45 — Mean 0.9469
— RMS 0.1763
40 = x? | ndf 14.31/16
- ExpConst 0.08263 + 1.13981
35 = ExpSlope 0.0554 + 0.8637
— GausConst 31.17 +¥2.79
30 = GausMean 0.9377 +£0.0113
= GausSigma 0.1409 + 0.0107
25—
20—
15—
10—
5
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mom-slice-7.500000<P<8.000000

EoverP_BHT1p 12

Entries 188
— Mean 0.9127
30— RMS 0.1668
— x? [ ndf 10.88/ 14
B 1 ExpConst 0.1427 +0.9369
25— A ExpSlope -0.2282 +0.9808
- \ GausConst 23.46 + 2.46
- —+ GausMean 0.9076 +0.0127
20— GausSigma 0.136 +0.012
15—
10—
51—
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mom-slice-8.000000<P<8.500000

EoverP_BHT1p 13

Entries 112
— RMS 0.1851
18— x? [ ndf 7.149/ 12
— ExpConst 0.7491 + 1.0457
16— T ExpSlope -0.5923 +1.2170
L GausConst 11.44 +1.78
14 T GausMean ~ 0.9381  0.0237
12 :_ 1 /'\\ GausSigma 0.148 + 0.023
10— / +
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mome-slice-8.500000<P<9.000000 EoverP_BHT1p 14
Entries 85
— Mean 0.8758
B RMS 0.1711
12— x? [ ndf 7.678/12
B ExpConst -8.386 + 0.000
- ExpSlope -6.837 £ 0.000
10— T GausConst 8.785 + 0.000
- N T GausMean 0.8658 +0.0000
gl / \ 1 GausSigma  0.1786 + 0.0000
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mom-slice-9.000000<P<9.500000

EoverP_BHT1p 15

Entries 53
B Mean 0.875
— RMS 0.195
10— x2 [ ndf 3.006/9
B ExpConst -0.7146 £1.0294
B y\ ExpSlope 1.677 + 1.049
8 GausConst 6.992 +2.326
B GausMean 0.8476 +0.0191
B GausSigma -0.05374 +0.01468
6(— ;
4 I
B 1T \./A
2 I ]
B /”/
O B | | | | | | | | | | | | | | | | | | | | |




mom-slice-9.500000<P<10.000000

EoverP_BHT1p 16

Entries 35
— Mean 0.8254
3 - RMS 0.1733
— x? | ndf 3.5771/9
. == ExpConst 0.9708 £ 0.7618
— ExpSlope -0.4701 £ 0.8511
5 = 1 GausConst 5.196 +6.155
— GausMean 0.792 +0.022
c = GausSigma  0.02535 + 0.03194
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